The Specialist In Drum Handling Equipment

Kit # RP400-19.03

Recommended Spare Parts Kit

Recommended Spare Parts Kit for Morse Model 400A-60
with Serial Number 420550 to

Qty. Part # Description
2 5329-P PIN, GROOVE, 3/4 X 3.10
2 5330-P SNAP RING, EXT, HD, .078, 3/4”
2 87-P WHEEL, MORTUF, 8", 3/4” BRG
2 3308-P CASTER, 4” SWIVEL, DBL RACE
1 23-P GEAR, SPUR, 72T, 1" HOLE
2 64-P ROLL PIN, 3/16 X 1-1/4
2 19-P BEARING, 3/4” ID X 2-1/2”
1 3849B-P BEARING BLOCK, SLIDING IDLER
1 14-P GEAR, PINION, 7 TOOTH
1 13-P SPROCKET #35 36T, 3/4” BORE
1 12-P CHAIN, ROLLER, #35 W/ M LINK
1 735-P KEY, WOODRUFF, SIZE 9, ASA606
1 1302-P SHAFT W/ 12T SPROCKET, POCKET
1 1411-P SPACER, SHAFT W/ 12T SPROCKET
1 18-P BEARING, 17 ID X 2-1/2”
1 7-P BEARING, 3/4” ID X 1-1/2”
1 5U-P HAND CRANK, W/ SOCKET TUBE
1 718-P NUT, 1/2 PUSH
1 100-P STOP PIN, HAND CRANK, 1/2 X 5
1 6871A-P RATCHET PLATE CPT, SQ HOLE
2 5019-P CHAIN, HINGE, 9/32 ALLOY 2 LK
4 6833-P BOLT, 5/16-18 X 1 GR5 CAR
4 4178-P NUT, 5/16-18 FLANGE LOCK, MOR
1 4172SP-P PIN, S.P., CINCH CHAIN, 5000-P
1 5017-P CHAIN, CINCH, 9/32, 38 LIN
1 4414-P COVER, CINCH CHAIN, FLEX PVC
1 4744-P SNAP RING, EXTERNAL, 3/8”
1 5349-P KIT, SEAL, 1-1/2 CYL 783-P
1

96MK1939-20

KIT, REPAIR, STAR HYD PUMP

morsedrum.com
Copyright 2024 - Morse Mfg. Co., Inc.

Form RP400-19.03 (Updated 7 Feb, 2024)



http://morsedrum.com

